Question : 1 Broken bricks or stone chips
are also called:

g U ST AT IR o = hl gL ST &-
OP 1 : Brokomite / SIIhlHISCE

OP 2 : Scrap /WT
OP 3 : Spall / T91A

OP 4 : Wastage / 3191

Question : 2 Slate.and marble stone belong
to-

oI AT HIFRHAL A HF U o

OP 1 : Igneous rocks/3T3s1 AcelsT O

OP 2 : metamorphic rocks /RIATdRd Tl
o

OP 3 : sedimentaryrocks / 3IgHIAT Tccled 4
OP 4 foliated rocks / 9{dcIY dcCclel
Question =3 Trdpis’a / ¢ &-

OP 1 : Metamorphic rock / I—l=di¥d

T Clad

OP 2 : Igneous rock / 31T Il

OP 3 : Granite rock / AATSC AU CTls

OP 4 : sedimentary rocks / 3IdHTICT ICCTad




Question : 4 Argillaceous rocks have their
main constituent

HTTAHTHT TTAl ohl TET 9 A Fch o-
OP 1 : carbonates of Jime / a
OP 2 : clay or alumina / TH<HT skl @TSAT

OP 3 : 61lica or Sand/ RATA<HT AT STc]
OP 4 : all of these /(/SsT3 O AT

Question : 5§ Which of the following rocks .
accepts good polishing™?

AFAaTaT@a 37 8 i<l acaladl 93/ 3T<esT
a<e 9iTa2r bl AT HA=shdl -

OP 1 : Lateritc /AdciIsS<c
OP 2 : Brecccia7-srt3aar

OoOP 3 Slale /7 2T

OP 4 - Marble / "arHAaIATL

Question : 6 Match List | list with List Il in
each question and select the correct answer
by using the codes given below the two lists
in each question:

gcAeh 9T & TEN- 1 K AEN- 11 3 T3adarsT sRY
IS HT AT Pl 8L ol ST dai-

List /7 | =r- 17 List 11 /7 T=ir- 11

AL Quart=zite /1. Marine works / '\cl_elfl_)a'
Farcalisc =TT

B. Serpentine /2. Flooring / &d SATA

911 Pt

-3 Marble /3. Indoor decoration /7 €S9I
HITHIHTL a; 3‘iq’{ Hosllid

: 4. Road metal /7 HSH
D. Basalt/ SSdTcc — E

. -

OP 1 : A-3.B-4,C-1,D-2
OP 2 :- A2B-1,C-3,Db-4
OP 3 - A-1.B-2,C-3,.D-14
OP 4 : A4 B-3,C-2,D-1



Question : 7 Metamorphic mineral rock
composed entirely of silica

g8 FUlediXdd TATAST dccld Sl 9ihckas a
AaTtasr O J-T1 8-

OP 1 : Marble / HItTHIHAL

OP 2 : Sand stone / sTa3i1 921X
OP 3 : Zinconitey/ TShse
OP 4 : Quartz /7 sFarcst

Question :©: 8 The explosive not used for
blasting the rocks under/ \water iIs-

g TaTwicehs ATl &6 iy dacarAl ok
faThiced b TAGT b SUATIT sdelh TehAT SITdT o-
OP 1 : Gun powder / 9™ I3ST

OP 2 : Gun cotton / JTod shicoTl

OP 3 : Dynamite /SiHc0THIST

OP 4 : Dordite / SFLSISC

Question = 9 lLaterite is chemically
classified as

THEATASR F9 A elesc spl gafiehd Tahar ar=m
-

OP 1 Calcarcous rock / T=0THA AT

OP 2 : Argillaceous rock / FiashiHd Tccls
OP 3 : Silicious rock / fTAfasHAT Tacer=

OP 4 : Metamorphic rock / ShrATfediXd




Question : 10 If the rocks are formed due
to alteration of original structure under heat
and excessive pressure, then they are
known

IfE IgcersT ag 34X 31Tt a9 & 31Fl‘cﬁFr
HoT HITAT b TRdclst e shI{UT/Helcil &, dsi/a
A9=T & 9 37 JATT SATdl 8-

OP 1 : Igneous’. A9

OP 2 : Sedimentary /. 3IaHIST

OP 3 : Volcanic /SaTATHET

OP 4 : Metamorphic / shI=ATdRdA

Question : 11 If{the moltendimagma forces
itself into already. existing rock in the earth's
crust and soildifies there, such a rock is
known as-

319 TErelr g1 HIASL-IUCT & e Jgal A
S/ HAISIE TCalT HEGT bl GHTAT § 3R gl
S hBIdT 8, 54 HehX Tl I STeAT STl
gl

OP 1: Metamorphic rocks / SIATARd A<l
OP 2 : extrusive rocks / dfgdtil Tccr=

OP 3 : intrusive rocks / 3Teeddtil Il

OP 4 : igneous rocks / 31 Icclsd




Question : 12 Mica, mainly, is composed
of-

HISHT, HET 9 A &7 gIdT o-

OP 1 : alcium carbonateV/ HTeR—H FHIdlc
OP 2 : magnesium ‘and calcium silicate /

HINTATH 3T FTerTA Aiciehe
OP 3 : silica with'oxygen / 31Tl eh HT20
EGEL

OP 4 : potassium and aluminium:silicate /
qiefRras 3R v fAfa Rfashe

Question : 13 Los angeles/machine is used
to test the aggregate for

ol UTSrenA F2fleT Shl 9T TS 3 9daTor

& Tore forar STar &4
OP 1 :Cushing ‘strength / AcaleT AT &

OP 2 : Impact value / Hg<c Hle o AT

OP 3: Abrasion resistance / 3196Y0T gfaIres
&% Taw

OP 4 : Water absorption / STdf 31d209UT &
IGIY



Question : 14 Syenite is a
ARI-TSE gl

OP 1 : Acid rock / 3/ ii TEcTdd

OP 2 : Hypabyssal rock ' gIsuredel Ticclel
OP 3 : Basic rock / §T{I¥ I¢CTo

OP 4 : Deep seatcd-plutonic rockd el fie

S[dr

Question : 15/An ‘explosivé which contains,
65% saltpetre, 20% sulphur and 15%
charcoal is:

Uh-fdEhica [SFH 659% HrecdieX 201%
dctlchd 15% TRblel aldl o -

OP 1.: Dynamite 7 STIATHISC

OP 2 :Nitfocellulose / ATSgIATclloT

OP 3 : Blasting Powder / sclli€cdT 91383
OP 4 : Cordite / PR3I3C




Question : 16 Match List | with List Il and
select the correct answer using the codes
given below the lists:

gAl-1 1 G-Il & HR FAeed 37T
fer 1T hi5 & 3THN el 3L T el 2l

List IRTT-1 —List IRT-1i

A. 1. (se of ston€\/ ca &
Gramte/ilﬂlsa 3'q'q)|g'|'
B.

Marble/Améa . 2 Ballast/ ST 7

3. Manufacture of cement /
-he HIHE & 3cdicd 4,¢-2,d-3 H

D.

|aterite/elc ST

OP 1 1 As3,B-1,C-2,D-4
OP 2 : A-3,B-3,C-1,D4
OP 3: A-2,B-1,C-4,D-3
OP 4: A-1,B-4,C-2D-3




Question : 17 Pick up the hypabyssal rock
from the following:

fA=faf@aa 7 @ fafaae acersa s I=

OP 1 : Granite / J13E
OP 2 : Dolerite / STIRISE

OP 3 : Basalt/d8Tec
OP 4 : All the above / 39T THT

Question : 18 Blast frunace gslag has
approximately:

faTwic O Aadal drel o1dr A 913737 AT
arFAfaa g7

OP 1 : 45% Calcium oXide and 35% Silica

45% FHfecadHd 333X 35% Afaranr
OP 2 : 25% Calcium oxide and 35% Silica
approx

25% hicadd, SdHss 3 9HIT 35%

EEGEQ!
OP 3 .: 25% Calcium Sulphate and 15%
Alumina
25% hiedIH Hoehe 3 15% ToHHAT

OP 4 : 50% Alumina and 20% Calcium
oxide

50% TeITHAT 31 20% Hicaad drss




Question : 19 Which of the following has
least bearing capacity

et A O ThTdH Ta8 7 dg« STHAT gl 672
OP 1 : Hard rocks / &iold. el

OP 2 : Loose gravcl /' Rifc Sl
OP 3 : Compaect ‘gramcl / Tgd diddl

OP 4 : Soft rocks/ﬂg@?—r

Question : 20 Slate in 'the form of tiles is
used-

CISell o ®F H/Fele Tl 3TANIT Teh AT ST 6-
OP 1 : Forpaving / 9fdel & TeiT

OP-2.: As road metal /#ses UsT & ST H

OP 3 :As and excellent roof covering
material

Uch 3 BaASITaIoT e & §T H
OP 4 :For the manufacture of cement

HIHT & Icdice & Tolw




